Hospital	Facility Volume	AMI > 12 Hours	No ST Ele and r Uninterpr	no etable	Contraind in Hemodyn	n amically	,	Primary PTCA Eligible		Arrival-to		
			EC		Stable P	atients			<= 90	Mins	> 2 H	ours
	#	#	#	%	#	%	#	%	#	%	#	%
Q1 2021												
Atlanticare Regional Medical Center-Mainland	49	0	1	2.0%	1	2.0%	44	89.8%	47	95.9%	0	0.0%
Bayshore Community Hospital	12	_	0	0.0%	0	0.0%	12	100.0%	11	91.7%	0	0.0%
Capital Health System at Hopewell	21		0	0.0%	0	0.0%	21	100.0%	20	95.2%	1	4.8%
CarePoint Health Bayonne Medical Center	7		0	0.0%	3	42.9%	2	28.6%	6	85.7%	1	14.3%
CarePoint Health-Christ Hospital	11	2	0	0.0%	0	0.0%	9	81.8%	6	54.5%	3	27.3%
Chilton Memorial Hospital	13	0	0	0.0%	0	0.0%	13	100.0%	12	92.3%	0	0.0%
Clara Maass Medical Center	11	0	0	0.0%	0	0.0%	11	100.0%	5	45.5%	3	27.3%
Community Medical Center	27	1	0	0.0%	1	3.7%	25	92.6%	20	74.1%	1	3.7%
Cooperman Barnabas Medical Center	9	0	0	0.0%	0	0.0%	9	100.0%	6	66.7%	1	11.1%
Deborah Heart and Lung Center	8	1	3	37.5%	1	12.5%	3	37.5%	8	100.0%	0	0.0%
Englewood Hospital and Medical Center	19	0	1	5.3%	0	0.0%	16	84.2%	13	68.4%	2	10.5%
Hackensack University Medical Center	50	7	3	6.0%	4	8.0%	38	76.0%	37	74.0%	6	12.0%
Holy Name Hospital	9	3	1	11.1%	0	0.0%	5	55.6%	9	100.0%	0	0.0%
Hunterdon Medical Center	12	0	0	0.0%	0	0.0%	11	91.7%	12	100.0%	0	0.0%
Inspira Medical Center Mullica Hill	27	4	0	0.0%	1	3.7%	15	55.6%	24	88.9%	2	7.4%
Inspira Medical Center Vineland	19	0	0	0.0%	0	0.0%	19	100.0%	14	73.7%	2	10.5%
Jersey City Medical Center	15	2	0	0.0%	0	0.0%	13	86.7%	15	100.0%	0	0.0%
Jersey Shore University Medical Center	27	1	2	7.4%	1	3.7%	24	88.9%	19	70.4%	2	7.4%
JFK Medical Center (Edison)	22	0	0	0.0%	0	0.0%	22	100.0%	17	77.3%	1	4.5%
Monmouth Medical Center	8	0	0	0.0%	1	12.5%	7	87.5%	7	87.5%	1	12.5%
Morristown Memorial Hospital	38	1	0	0.0%	2	5.3%	33	86.8%	28	73.7%	2	5.3%
Mountainside Hospital	10	2	0	0.0%	0	0.0%	7	70.0%	2	20.0%	3	30.0%
Newark Beth Israel Medical Center	15	0	0	0.0%	0	0.0%	15	100.0%	10	66.7%	2	13.3%
Newton Medical Center	9	0	0	0.0%	0	0.0%	9	100.0%	9	100.0%	0	0.0%
Ocean Medical Center	19	0	0	0.0%	1	5.3%	17	89.5%	16	84.2%	0	0.0%
Overlook Hospital	18	0	0	0.0%	0	0.0%	18	100.0%	15	83.3%	1	5.6%
Raritan Bay Medical Center - Perth Amboy	16	4	1	6.3%	0	0.0%	10	62.5%	10	62.5%	2	12.5%
Riverview Medical Center	13	0	0	0.0%	1	7.7%	12	92.3%	13	100.0%	0	0.0%
Robert Wood Johnson University Hospital	42	5	1	2.4%	1	2.4%	35	83.3%	36	85.7%	4	9.5%
RWJ University Hospital at Hamilton	9	0	0	0.0%	0	0.0%	9	100.0%	9	100.0%	0	0.0%
RWJ University Hospital at Rahway	8	0	0	0.0%	0	0.0%	8	100.0%	4	50.0%	3	37.5%
RWJ University Hospital at Somerset	22	2	1	4.5%	1	4.5%	20	90.9%	19	86.4%	0	0.0%
Saint Clare's Hospital - Denville	27		0	0.0%		3.7%	26	96.3%	23	85.2%	0	0.0%
St. Francis Medical Center	10	0	0	0.0%	0	0.0%	9	90.0%	7	70.0%	1	10.0%

Hospital	Facility AMI >		and no Uninterpretable		Hemodynamically		Primary PTCA Eligible		Arrival-to-Baloon				
			EC	G	Stable F	Patients			<= 90	Mins	> 2 Hours		
	#	#	#	%	#	%	#	%	#	%	#	%	
St. Joseph's Regional Medical Center	31	3	1	3.2%	1	3.2%	26	83.9%	31	100.0%	0	0.0%	
St. Mary's Hospital (Passaic)	3	1	0	0.0%	0	0.0%	2	66.7%	2	66.7%	0	0.0%	
St. Michael's Medical Center	7	0	0	0.0%	0	0.0%	7	100.0%	3	42.9%	1	14.3%	
St. Peter's University Hospital	8	0	0	0.0%	0	0.0%	8	100.0%	6	75.0%	0	0.0%	
The Cooper Health System	18	2	0	0.0%	0	0.0%	15	83.3%	15	83.3%	0	0.0%	
Trinitas Hospital	10	3	0	0.0%	0	0.0%	7	70.0%	7	70.0%	2	20.0%	
University Hospital	13	0	0	0.0%	0	0.0%	13	100.0%	10	76.9%	1	7.7%	
University Medical Ctr at Princeton in Plainsboro	11	2	0	0.0%	0	0.0%	9	81.8%	9	81.8%	2	18.2%	
Valley Hospital	25	1	0	0.0%	1	4.0%	22	88.0%	22	88.0%	0	0.0%	
Virtua-Memorial Hospital Burlington Cty.	21	0	0	0.0%	0	0.0%	21	100.0%	18	85.7%	2	9.5%	
Virtua-Our Lady of Lourdes	31	0	1	3.2%	0	0.0%	30	96.8%	31	100.0%	0	0.0%	
Virtua-West Jersey Hospital Marlton	25	0	0	0.0%	0	0.0%	25	100.0%	24	96.0%	0	0.0%	
Total	835	49	16	1.9%	22	2.6%	732	87.7%	687	82.3%	52	6.2%	

Hospital	Facility Volume	AMI >	No ST Ele and i Uninterp	no	Contraind in Hemodyna	1	Primary Elig			Arrival-to	o-Baloon	
	Volumo	12 110410	EC		Stable P		9		<= 90	Mins	> 2 Ho	ours
	#	#	#	%	#	%	#	%	#	%	#	%
Q2 2021												
Atlanticare Regional Medical Center-Mainland	44	0	2	4.5%	5	11.4%	37	84.1%	40	90.9%	0	0.0%
Bayshore Community Hospital	15	0	0	0.0%	1	6.7%	14	93.3%	15	100.0%	0	0.0%
Capital Health System at Hopewell	19	0	0	0.0%	1	5.3%	18	94.7%	17	89.5%	0	0.0%
CarePoint Health Bayonne Medical Center	9	4	2	22.2%	0	0.0%	4	44.4%	8	88.9%	1	11.1%
CarePoint Health-Christ Hospital	11	0	0	0.0%	0	0.0%	11	100.0%	9	81.8%	0	0.0%
Chilton Memorial Hospital	18	0	0	0.0%	0	0.0%	18	100.0%	17	94.4%	0	0.0%
Clara Maass Medical Center	9	1	0	0.0%	0	0.0%	8	88.9%	6	66.7%	1	11.1%
Community Medical Center	25	3	0	0.0%	2	8.0%	19	76.0%	22	88.0%	1	4.0%
Cooperman Barnabas Medical Center	13	1	0	0.0%	0	0.0%	12	92.3%	8	61.5%	2	15.4%
Deborah Heart and Lung Center	10	1	3	30.0%	0	0.0%	4	40.0%	10	100.0%	0	0.0%
Englewood Hospital and Medical Center	11	0	0	0.0%	0	0.0%	10	90.9%	8	72.7%	1	9.1%
Hackensack University Medical Center	51	6	1	2.0%	2	3.9%	42	82.4%	41	80.4%	2	3.9%
Holy Name Hospital	3	3	0	0.0%	0	0.0%	0	0.0%	3	100.0%	0	0.0%
Hunterdon Medical Center	17	0	0	0.0%	0	0.0%	16	94.1%	16	94.1%	0	0.0%
Inspira Medical Center Mullica Hill	38	9	0	0.0%	4	10.5%	16	42.1%	34	89.5%	1	2.6%
Inspira Medical Center Vineland	29	0	0	0.0%	0	0.0%	29	100.0%	22	75.9%	0	0.0%
Jersey City Medical Center	11	1	0	0.0%	0	0.0%	10	90.9%	10	90.9%	0	0.0%
Jersey Shore University Medical Center	41	1	0	0.0%	1	2.4%	38	92.7%	39	95.1%	0	0.0%
JFK Medical Center (Edison)	31	0	0	0.0%	0	0.0%	30	96.8%	26	83.9%	2	6.5%
Monmouth Medical Center	4	0	0	0.0%	0	0.0%	4	100.0%	4	100.0%	0	0.0%
Morristown Memorial Hospital	42	1	1	2.4%	1	2.4%	36	85.7%	33	78.6%	0	0.0%
Mountainside Hospital	15	5	0	0.0%	0	0.0%	10	66.7%	10	66.7%	2	13.3%
Newark Beth Israel Medical Center	16	0	0	0.0%	0	0.0%	16	100.0%	10	62.5%	2	12.5%
Newton Medical Center	19	0	0	0.0%	1	5.3%	17	89.5%	15	78.9%	1	5.3%
Ocean Medical Center	21	2	1	4.8%	0	0.0%	17	81.0%	16	76.2%	3	14.3%
Overlook Hospital	22	0	0	0.0%	4	18.2%	17	77.3%	19	86.4%	0	0.0%
Raritan Bay Medical Center - Perth Amboy	21	0	0	0.0%	0	0.0%	21	100.0%	17	81.0%	1	4.8%
Riverview Medical Center	12	0	0	0.0%	0	0.0%	12	100.0%	12	100.0%	0	0.0%
Robert Wood Johnson University Hospital	34	5	0	0.0%	3	8.8%	24	70.6%	28	82.4%	3	8.8%
RWJ University Hospital at Hamilton	7	0	0	0.0%	0	0.0%	7	100.0%	7	100.0%	0	0.0%
RWJ University Hospital at Rahway	14	4	0	0.0%	0	0.0%	10	71.4%	11	78.6%	3	21.4%
RWJ University Hospital at Somerset	19	1	0	0.0%	0	0.0%	18	94.7%	15	78.9%	1	5.3%
Saint Clare's Hospital - Denville	21	0	0	0.0%	0	0.0%	21	100.0%	18	85.7%	2	9.5%
St. Francis Medical Center	12	0	1	8.3%	0	0.0%	11	91.7%	10	83.3%	0	0.0%

Hospital	Facility Volume	AMI > 12 Hours	No ST EI and Uninterp EC	no retable		n namically	Primary Eligi		<= 90	Arrival-to-	Baloon > 2 Ho	ours
	#	#	#	%	#	%	#	%	#	%	#	%
St. Joseph's Regional Medical Center	18	3	0	0.0%	1	5.6%	14	77.8%	17	94.4%	0	0.0%
St. Michael's Medical Center	3	0	0	0.0%	0	0.0%	3	100.0%	2	66.7%	0	0.0%
St. Peter's University Hospital	5	0	0	0.0%	1	20.0%	4	80.0%	3	60.0%	2	40.0%
The Cooper Health System	34	5	0	0.0%	3	8.8%	22	64.7%	30	88.2%	2	5.9%
Trinitas Hospital	5	1	0	0.0%	0	0.0%	4	80.0%	5	100.0%	0	0.0%
University Hospital	16	0	0	0.0%	1	6.3%	15	93.8%	11	68.8%	3	18.8%
University Medical Ctr at Princeton in Plainsboro	24	3	0	0.0%	1	4.2%	21	87.5%	18	75.0%	1	4.2%
Valley Hospital	27	1	0	0.0%	1	3.7%	24	88.9%	23	85.2%	3	11.1%
Virtua-Memorial Hospital Burlington Cty.	24	0	0	0.0%	0	0.0%	24	100.0%	19	79.2%	1	4.2%
Virtua-Our Lady of Lourdes	40	1	2	5.0%	1	2.5%	36	90.0%	40	100.0%	0	0.0%
Virtua-West Jersey Hospital Marlton	32	0	0	0.0%	0	0.0%	32	100.0%	29	90.6%	1	3.1%
Total	912	62	13	1.4%	34	3.7%	776	85.1%	773	84.8%	42	4.6%

Hospital	Facility Volume	AMI > 12 Hours	No ST Ele and I Uninterp	no retable	Contraind ir Hemodyn	n amically	Primary Elig			Arrival-to	o-Baloon	
			EC		Stable P				<= 90		> 2 H	
	#	#	#	%	#	%	#	%	#	%	#	%
Q3 2021												
Atlanticare Regional Medical Center-Mainland	50	_	0	0.0%		4.0%	48	96.0%	42	84.0%	2	4.0%
Bayshore Community Hospital	12		0	0.0%		0.0%	12	100.0%	12	100.0%	0	0.0%
Capital Health System at Hopewell	9	0	0	0.0%	0	0.0%	9	100.0%	9	100.0%	0	0.0%
CarePoint Health Bayonne Medical Center	7	2	2	28.6%	1	14.3%	4	57.1%	4	57.1%	0	0.0%
CarePoint Health-Christ Hospital	5	0	0	0.0%	0	0.0%	5	100.0%	5	100.0%	0	0.0%
Chilton Memorial Hospital	12	0	0	0.0%	0	0.0%	12	100.0%	11	91.7%	0	0.0%
Clara Maass Medical Center	11	2	0	0.0%	0	0.0%	9	81.8%	5	45.5%	2	18.2%
Community Medical Center	37	0	0	0.0%	1	2.7%	34	91.9%	29	78.4%	2	5.4%
Cooperman Barnabas Medical Center	16	0	1	6.3%	1	6.3%	15	93.8%	13	81.3%	3	18.8%
Deborah Heart and Lung Center	5	0	2	40.0%	0	0.0%	1	20.0%	5	100.0%	0	0.0%
Englewood Hospital and Medical Center	11	0	2	18.2%	0	0.0%	10	90.9%	11	100.0%	0	0.0%
Hackensack University Medical Center	54	5	1	1.9%	6	11.1%	42	77.8%	42	77.8%	3	5.6%
Holy Name Hospital	7	4	2	28.6%	1	14.3%	2	28.6%	3	42.9%	3	42.9%
Hunterdon Medical Center	12	0	0	0.0%	0	0.0%	11	91.7%	8	66.7%	3	25.0%
Inspira Medical Center Mullica Hill	41	7	0	0.0%	2	4.9%	28	68.3%	37	90.2%	1	2.4%
Inspira Medical Center Vineland	32	0	0	0.0%	0	0.0%	32	100.0%	20	62.5%	4	12.5%
Jersey City Medical Center	9	1	1	11.1%	0	0.0%	7	77.8%	8	88.9%	0	0.0%
Jersey Shore University Medical Center	35	2	2	5.7%	0	0.0%	32	91.4%	31	88.6%	3	8.6%
JFK Medical Center (Edison)	23	0	0	0.0%	1	4.3%	22	95.7%	18	78.3%	3	13.0%
Monmouth Medical Center	11	1	0	0.0%	0	0.0%	8	72.7%	10	90.9%	0	0.0%
Morristown Memorial Hospital	45	1	0	0.0%	3	6.7%	40	88.9%	37	82.2%	1	2.2%
Mountainside Hospital	9	1	0	0.0%	1	11.1%	8	88.9%	6	66.7%	2	22.2%
Newark Beth Israel Medical Center	15	3	0	0.0%	0	0.0%	12	80.0%	7	46.7%	4	26.7%
Newton Medical Center	11	0	0	0.0%	2	18.2%	9	81.8%	9	81.8%	1	9.1%
Ocean Medical Center	24	2	0	0.0%	0	0.0%	21	87.5%	24	100.0%	0	0.0%
Overlook Hospital	26	0	0	0.0%	1	3.8%	25	96.2%	24	92.3%	1	3.8%
Raritan Bay Medical Center - Perth Amboy	20	1	1	5.0%	1	5.0%	17	85.0%	15	75.0%	2	10.0%
Riverview Medical Center	16	0	0	0.0%	0	0.0%	16	100.0%	13	81.3%	1	6.3%
Robert Wood Johnson University Hospital	42	2	0	0.0%	4	9.5%	35	83.3%	29	69.0%	5	11.9%
RWJ University Hospital at Hamilton	15	2	0	0.0%	0	0.0%	12	80.0%	15	100.0%	0	0.0%
RWJ University Hospital at Rahway	8	2	0	0.0%	1	12.5%	5	62.5%	5	62.5%	0	0.0%
RWJ University Hospital at Somerset	15	1	0	0.0%	0	0.0%	14	93.3%	12	80.0%	1	6.7%
Saint Clare's Hospital - Denville	15	0	0	0.0%	1	6.7%	14	93.3%	15	100.0%	0	0.0%
St. Francis Medical Center	2	1	1	50.0%	0	0.0%	1	50.0%	0	0.0%	1	50.0%

Hospital	Facility Volume	AMI > 12 Hours		no retable	Contraind in Hemodyn	amically	Primary PTCA		Arrival-to-Baloon				
			ECG		Stable P	atients			<= 90 Mins		> 2 Hours		
	#	#	#	%	#	%	#	%	#	%	#	%	
St. Joseph's Regional Medical Center	32	1	0	0.0%	1	3.1%	27	84.4%	30	93.8%	0	0.0%	
St. Mary's Hospital (Passaic)	1	0	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	
St. Michael's Medical Center	3	0	0	0.0%	1	33.3%	2	66.7%	1	33.3%	1	33.3%	
St. Peter's University Hospital	5	0	0	0.0%	0	0.0%	5	100.0%	5	100.0%	0	0.0%	
The Cooper Health System	38	3	1	2.6%	1	2.6%	32	84.2%	32	84.2%	2	5.3%	
Trinitas Hospital	12	2	0	0.0%	1	8.3%	9	75.0%	11	91.7%	1	8.3%	
University Hospital	10	0	0	0.0%	2	20.0%	8	80.0%	8	80.0%	1	10.0%	
University Medical Ctr at Princeton in Plainsboro	20	2	1	5.0%	1	5.0%	16	80.0%	15	75.0%	3	15.0%	
Valley Hospital	20	1	0	0.0%	0	0.0%	18	90.0%	16	80.0%	2	10.0%	
Virtua-Memorial Hospital Burlington Cty.	20	0	0	0.0%	0	0.0%	20	100.0%	17	85.0%	1	5.0%	
Virtua-Our Lady of Lourdes	33	3	1	3.0%	0	0.0%	30	90.9%	33	100.0%	0	0.0%	
Virtua-West Jersey Hospital Marlton	26	0	0	0.0%	0	0.0%	26	100.0%	23	88.5%	1	3.8%	
Total	882	52	19	2.2%	36	4.1%	765	86.7%	726	82.3%	60	6.8%	

Hospital	Facility Volume	AMI >	No ST Ele and i Uninterp	10	Contraind in Hemodyna	1	Primary Elig			Arrival-to	o-Baloon	
	Volumo	12110410	EC		Stable P		9		<= 90	Mins	> 2 Ho	ours
	#	#	#	%	#	%	#	%	#	%	#	%
Q4 2021										'		
Atlanticare Regional Medical Center-Mainland	36	0	0	0.0%	1	2.8%	34	94.4%	27	75.0%	3	8.3%
Bayshore Community Hospital	19	0	0	0.0%	0	0.0%	19	100.0%	19	100.0%	0	0.0%
Capital Health System at Hopewell	16	0	0	0.0%	0	0.0%	16	100.0%	15	93.8%	0	0.0%
CarePoint Health Bayonne Medical Center	5	0	2	40.0%	0	0.0%	4	80.0%	3	60.0%	0	0.0%
CarePoint Health-Christ Hospital	14	2	0	0.0%	0	0.0%	10	71.4%	11	78.6%	1	7.1%
Chilton Memorial Hospital	17	0	0	0.0%	0	0.0%	17	100.0%	15	88.2%	2	11.8%
Clara Maass Medical Center	11	2	0	0.0%	0	0.0%	9	81.8%	3	27.3%	4	36.4%
Community Medical Center	25	0	0	0.0%	0	0.0%	21	84.0%	20	80.0%	1	4.0%
Cooperman Barnabas Medical Center	13	0	0	0.0%	0	0.0%	13	100.0%	5	38.5%	2	15.4%
Deborah Heart and Lung Center	9	1	4	44.4%	0	0.0%	1	11.1%	9	100.0%	0	0.0%
Englewood Hospital and Medical Center	7	0	0	0.0%	0	0.0%	7	100.0%	5	71.4%	0	0.0%
Hackensack University Medical Center	46	10	1	2.2%	3	6.5%	33	71.7%	40	87.0%	1	2.2%
Holy Name Hospital	13	1	2	15.4%	0	0.0%	9	69.2%	9	69.2%	1	7.7%
Hunterdon Medical Center	16	1	0	0.0%	1	6.3%	15	93.8%	12	75.0%	1	6.3%
Inspira Medical Center Mullica Hill	24	5	0	0.0%	1	4.2%	16	66.7%	19	79.2%	3	12.5%
Inspira Medical Center Vineland	22	0	0	0.0%	1	4.5%	21	95.5%	16	72.7%	3	13.6%
Jersey City Medical Center	19	0	0	0.0%	1	5.3%	18	94.7%	18	94.7%	1	5.3%
Jersey Shore University Medical Center	51	1	3	5.9%	0	0.0%	47	92.2%	42	82.4%	4	7.8%
JFK Medical Center (Edison)	33	1	0	0.0%	0	0.0%	32	97.0%	28	84.8%	2	6.1%
Monmouth Medical Center	9	1	0	0.0%	0	0.0%	6	66.7%	4	44.4%	5	55.6%
Morristown Memorial Hospital	36	0	0	0.0%	7	19.4%	29	80.6%	30	83.3%	2	5.6%
Mountainside Hospital	8	1	0	0.0%	0	0.0%	6	75.0%	5	62.5%	1	12.5%
Newark Beth Israel Medical Center	7	0	0	0.0%	0	0.0%	7	100.0%	3	42.9%	0	0.0%
Newton Medical Center	15	0	0	0.0%	1	6.7%	14	93.3%	13	86.7%	0	0.0%
Ocean Medical Center	27	0	0	0.0%	2	7.4%	24	88.9%	22	81.5%	2	7.4%
Overlook Hospital	18	1	0	0.0%	0	0.0%	17	94.4%	14	77.8%	2	11.1%
Raritan Bay Medical Center - Perth Amboy	12	4	1	8.3%	0	0.0%	8	66.7%	2	16.7%	5	41.7%
Riverview Medical Center	17	0	1	5.9%	0	0.0%	16	94.1%	16	94.1%	0	0.0%
Robert Wood Johnson University Hospital	43	6	0	0.0%	3	7.0%	32	74.4%	34	79.1%	2	4.7%
RWJ University Hospital at Hamilton	10	3	0	0.0%	0	0.0%	6	60.0%	10	100.0%	0	0.0%
RWJ University Hospital at Rahway	13	1	0	0.0%	1	7.7%	11	84.6%	9	69.2%	2	15.4%
RWJ University Hospital at Somerset	18	2	2	11.1%	0	0.0%	15	83.3%	15	83.3%	3	16.7%
Saint Clare's Hospital - Denville	23	0	0	0.0%	0	0.0%	22	95.7%	18	78.3%	3	13.0%
St. Francis Medical Center	9	1	0	0.0%	0	0.0%	8	88.9%	6	66.7%	0	0.0%

Hospital	Facility Volume	ity AMI > no ST Elevati and no Uninterpretal ECG		no etable	Contraind in Hemodyna Stable Pa	amically	Primary PTCA		Arrival-to-Baloon			
	#	#	#	%	#	%	#	%	#	%	#	%
St. Joseph's Regional Medical Center	29	2	0	0.0%	1	3.4%	26	89.7%	28	96.6%	1	3.4%
St. Michael's Medical Center	4	0	0	0.0%	0	0.0%	3	75.0%	1	25.0%	1	25.0%
St. Peter's University Hospital	5	0	0	0.0%	0	0.0%	5	100.0%	2	40.0%	1	20.0%
The Cooper Health System	21	6	0	0.0%	2	9.5%	14	66.7%	18	85.7%	0	0.0%
Trinitas Hospital	8	3	1	12.5%	0	0.0%	5	62.5%	6	75.0%	2	25.0%
University Hospital	7	0	0	0.0%	0	0.0%	7	100.0%	3	42.9%	2	28.6%
University Medical Ctr at Princeton in Plainsboro	18	1	0	0.0%	0	0.0%	16	88.9%	13	72.2%	0	0.0%
Valley Hospital	24	0	0	0.0%	3	12.5%	19	79.2%	19	79.2%	2	8.3%
Virtua-Memorial Hospital Burlington Cty.	21	1	0	0.0%	0	0.0%	20	95.2%	18	85.7%	0	0.0%
Virtua-Our Lady of Lourdes	33	0	2	6.1%	1	3.0%	30	90.9%	23	69.7%	7	21.2%
Virtua-West Jersey Hospital Marlton	30	3	0	0.0%	0	0.0%	26	86.7%	25	83.3%	4	13.3%
Total	861	60	19	2.2%	29	3.4%	734	85.2%	673	78.2%	76	8.8%

Hospital	Facility Volume	AMI > 12 Hours		no retable	Contraind in Hemodyna	amically	Primary PTCA			Arrival-to	-Baloon	
			EC		Stable Pa				<= 90		> 2 Ho	
	#	#	#	%	#	%	#	%	#	%	#	%
2021 Total												
Atlanticare Regional Medical Center-Mainland	179		3	1.7%	9	5.0%	163	91.1%	156	87.2%	5	2.8%
Bayshore Community Hospital	58		0	0.0%	1	1.7%	57	98.3%	57	98.3%	0	0.0%
Capital Health System at Hopewell	65		0	0.0%	1	1.5%	64	98.5%	61	93.8%	1	1.5%
CarePoint Health Bayonne Medical Center	28	-	6	21.4%	4	14.3%	14	50.0%	21	75.0%	2	7.1%
CarePoint Health-Christ Hospital	41	4	0	0.0%	0	0.0%	35	85.4%	31	75.6%	4	9.8%
Chilton Memorial Hospital	60	-	0	0.0%	0	0.0%	60	100.0%	55	91.7%	2	3.3%
Clara Maass Medical Center	42	5	0	0.0%	0	0.0%	37	88.1%	19	45.2%	10	23.8%
Community Medical Center	114	4	0	0.0%	4	3.5%	99	86.8%	91	79.8%	5	4.4%
Cooperman Barnabas Medical Center	51	1	1	2.0%	1	2.0%	49	96.1%	32	62.7%	8	15.7%
Deborah Heart and Lung Center	32	3	12	37.5%	1	3.1%	9	28.1%	32	100.0%	0	0.0%
Englewood Hospital and Medical Center	48	0	3	6.3%	0	0.0%	43	89.6%	37	77.1%	3	6.3%
Hackensack University Medical Center	201	28	6	3.0%	15	7.5%	155	77.1%	160	79.6%	12	6.0%
Holy Name Hospital	32	11	5	15.6%	1	3.1%	16	50.0%	24	75.0%	4	12.5%
Hunterdon Medical Center	57	1	0	0.0%	1	1.8%	53	93.0%	48	84.2%	4	7.0%
Inspira Medical Center Mullica Hill	130	25	0	0.0%	8	6.2%	75	57.7%	114	87.7%	7	5.4%
Inspira Medical Center Vineland	102	0	0	0.0%	1	1.0%	101	99.0%	72	70.6%	9	8.8%
Jersey City Medical Center	54	4	1	1.9%	1	1.9%	48	88.9%	51	94.4%	1	1.9%
Jersey Shore University Medical Center	154	5	7	4.5%	2	1.3%	141	91.6%	131	85.1%	9	5.8%
JFK Medical Center (Edison)	109	1	0	0.0%	1	0.9%	106	97.2%	89	81.7%	8	7.3%
Monmouth Medical Center	32	2	0	0.0%	1	3.1%	25	78.1%	25	78.1%	6	18.8%
Morristown Memorial Hospital	161	3	1	0.6%	13	8.1%	138	85.7%	128	79.5%	5	3.1%
Mountainside Hospital	42	9	0	0.0%	1	2.4%	31	73.8%	23	54.8%	8	19.0%
Newark Beth Israel Medical Center	53	3	0	0.0%	0	0.0%	50	94.3%	30	56.6%	8	15.1%
Newton Medical Center	54	0	0	0.0%	4	7.4%	49	90.7%	46	85.2%	2	3.7%
Ocean Medical Center	91	4	1	1.1%	3	3.3%	79	86.8%	78	85.7%	5	5.5%
Overlook Hospital	84	1	0	0.0%	5	6.0%	77	91.7%	72	85.7%	4	4.8%
Raritan Bay Medical Center - Perth Amboy	69	9	3	4.3%	1	1.4%	56	81.2%	44	63.8%	10	14.5%
Riverview Medical Center	58	0	1	1.7%	1	1.7%	56	96.6%	54	93.1%	1	1.7%
Robert Wood Johnson University Hospital	161	18	1	0.6%	11	6.8%	126	78.3%	127	78.9%	14	8.7%
RWJ University Hospital at Hamilton	41	5	0	0.0%	0	0.0%	34	82.9%	41	100.0%	0	0.0%
RWJ University Hospital at Rahway	43	7	0	0.0%	2	4.7%	34	79.1%	29	67.4%	8	18.6%
RWJ University Hospital at Somerset	74		3	4.1%	1	1.4%	67	90.5%	61	82.4%	5	6.8%
Saint Clare's Hospital - Denville	86	0	0	0.0%	2	2.3%	83	96.5%	74	86.0%	5	5.8%
St. Francis Medical Center	33		2	6.1%	0	0.0%	29	87.9%	23	69.7%	2	6.1%

Hospital	Facility Volume	Facility AMI > and no Volume 12 Hours Uninterpretable He		Contraindi in Hemodyna	amically	Primary PTCA Eligible		Arrival-to-Baloon				
			EC	3	Stable Pa	atients			<= 90	Mins	> 2 H	ours
	#	#	#	%	#	%	#	%	#	%	#	%
St. Joseph's Regional Medical Center	110	9	1	0.9%	4	3.6%	93	84.5%	106	96.4%	1	0.9%
St. Mary's Hospital (Passaic)	4	1	1	25.0%	0	0.0%	2	50.0%	3	75.0%	0	0.0%
St. Michael's Medical Center	17	0	0	0.0%	1	5.9%	15	88.2%	7	41.2%	3	17.6%
St. Peter's University Hospital	23	0	0	0.0%	1	4.3%	22	95.7%	16	69.6%	3	13.0%
The Cooper Health System	111	16	1	0.9%	6	5.4%	83	74.8%	95	85.6%	4	3.6%
Trinitas Hospital	35	9	1	2.9%	1	2.9%	25	71.4%	29	82.9%	5	14.3%
University Hospital	46	0	0	0.0%	3	6.5%	43	93.5%	32	69.6%	7	15.2%
University Medical Ctr at Princeton in Plainsboro	73	8	1	1.4%	2	2.7%	62	84.9%	55	75.3%	6	8.2%
Valley Hospital	96	3	0	0.0%	5	5.2%	83	86.5%	80	83.3%	7	7.3%
Virtua-Memorial Hospital Burlington Cty.	86	1	0	0.0%	0	0.0%	85	98.8%	72	83.7%	4	4.7%
Virtua-Our Lady of Lourdes	137	4	6	4.4%	2	1.5%	126	92.0%	127	92.7%	7	5.1%
Virtua-West Jersey Hospital Marlton	113	3	0	0.0%	0	0.0%	109	96.5%	101	89.4%	6	5.3%
Total	3490	223	67	1.9%	121	3.5%	3007	86.2%	2859	81.9%	230	6.6%